Занятие №24.Простейшие тригонометрические уравнения.
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2. Уравнение 
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    Частные случаи: 
[image: image8.wmf]Z

n

n

Î

+

=

=

,

2

 x

;

 

-1

cosx

p

p


                                 
[image: image9.wmf]Z

k

n

x

x

Î

+

=

=

,

2

;

0

cos

p

p


                                 
[image: image10.wmf]Z

n

n

Î

=

=

,

2

 x

;

 

1

cosx

p


3. Уравнение 
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4. Уравнение 
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Пример1.:
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Пример2. :
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Пример3. :
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Пример4. :
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Пример5. :
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Пример6. :
[image: image31.wmf]2

1

)

6

2

sin(

=

+

p

x

; не частный случай, следовательно:  
[image: image32.wmf]Z

k

k

x

к

Î

+

-

=

+

,

2

1

arcsin

)

1

(

6

2

p

p

; 
[image: image33.wmf]Z

k

k

x

к

Î

+

-

=

+

,

6

)

1

(

6

2

p

p

p

. Выражаем «х»: 
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1. Решить уравнение:  
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2. Решить уравнение:  
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3. Решить уравнение:  
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4. Решить уравнение:  
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5. Решить уравнения:

а) 
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Дополнительные задания: 
   Решить уравнения:

а) 
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Домашнее задание:

Решить уравнения:

а) 
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